
126.10.2020.

BENCHBED 70x140

Instruction manual

16319611

Evi

BOPITA
Energieweg 1,  6662 NS Elst

The Netherlands
www.bopita.com

DISTRIBUTOR:

0,5 - 1

54

7C

QC-CODE

(UK)      for service requests
(NL)      voor service vragen
(FR)      pour les demandes de service
(DE)      für Service Anfragen
(ES)       para consultas de servicio
(IT)        per richieste di assistenza

QC-CODE



2
cm
0 1 2 3 4 5 6 7 8 9 10

W

x4

M4x30A 8x35

x10

WC

x1

4mm

51

54

XG

x4

52

52

56

52

YM

x8

M6x75R

x4

53

53

ZK M6 ZL ZM

x2 x2 x2

5CZL ZM

x1 x1

WC

x1

4mm

6CZL ZM

x1 x1

WC

x1

4mm YM

x4

M6x75

51
53

56

56



51

4AWC

x1

4mm YM

x4

M6x60

53

53

3AA 8x35

x8
53

R

x2

3C A 8x35

x2
53

4C ZK M6

x2

53

56

51

52



7A5A

6A

WC

x1

4mm YM

x4

M6x60

W

x4

M4x30 XG

x4

R

x2

6B

54

52

54


